Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	1.	5		- site bi	lls	17-1	04-22
Company Name:	MADI	2110	Regi			NS	71
Name of Contractor	IVIN	1. 10	111		<i></i>	Nu	<u> </u>
Nature of work		houde		Salad			
Work done	From Dat	e	5.04	WOSK	o Date	112-	04-23
Sl. Villa/Flat/block no.	O. Qty.		5 +04	Units	Amou		Contractors bill no
1. Store 9100	un 53	2	13/-	577	6,9	16/-	
2. Rail unx	4		3/-	17.1	65	1-86/-	
3. cond las	er 5s	1	3/-	24	21	63/-	
4. bosement	56	30 1	3/-	521	7,	280/	
6.	25		31-	58+	7,	163/-	Ī
	.56	0 1	3/-	12+	7,	2801-	#1.
Hourrase		• 0	7/	0	 	> - 1	56 53 54
8. back wost	39		3/-	121) 84/-	
10.	57	6	3 /-	564	Cres	KES 1-	
11. T	otal:	_		-	F2	260/-	100
Bill required	WYESL	NO.	GST	Γ bill requ	ired	⊔ YES	LHO.
Measurement &	Requir			asurement		□-Encto	sed
estimate sheet: PO/WO no.	□ Not rec	luired		mate shee	2	□ Not e	nclosed
D 1 0	_		7	WO date:		_	
Remarks:	Noon	s ore	Co	mP18	sted	•	
Residence				,			
1 (1 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2 (2				1		1 4	
				7 = 1			
Approved by Project M			d by De	sign Tean	n Ap	proved by	y M.D.
Date: 13-04-	2022	Date:			Da	te:	
Sign:		Sign:			Sig	n:	48

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Labour Charges

Choudary prasad Addres:H.no -325,Balaji nagar Hyderabad

Date:13-04-22

In favor of:

Nilgiri Heights

Project / Site:

Nilgiri Heights

Location:

Pocharam

Type of Work:

Brick work

Towards:

Allowance for Labour Charges

S No.	Description	Amount
1.	Brief description of work done:Towards completion of Store room brick work at Block A lower basement.	Rs.20904/-
	Total Amount =52260/-	
	Work done from date 05-04-22 to date: 12-04-2022	

Amount in words: Twenty thousand nine hundred and four rupees only.

Sign:	
-------	--

Bill for Equipment Charges

Choudary prasad Addres:H.no -325,Balaji nagar Hyderabad

Date:13-04-22

In favor of:

Nilgiri Heights Nilgiri Heights

Project / Site:

Location:

Pocharam

Type of Work:

Brick work

Towards:

Allowance for Equipment Charges

S No.	Description	Amount
1.	Brief description of work done: Towards completion of Store room brick work at Block A lower basement.	
	Total Amount =52260/-	Rs.20904/-
	Work done from date 05-04-22 to date: 12-04-2022	

Amount in words: Twenty thousand nine hundred and four rupees only.

a.		
Sign:		
DIEII.		

Bill for Consumble Charges

Choudary prasad Addres:H.no -325,Balaji nagar Hyderabad

Date:13-04-22

In favor of:

Nilgiri Heights Nilgiri Heights

Project / Site: Location:

Pocharam

Type of Work: Towards:

Brick work

Allowance for Consumble Charges

S No.	Description	Amount
1.	Brief description of work done:Towards completion of Store room brick work at Block A lower basement.	Rs.10452/-
	Total Amount =52260/-	
	Work done from date 05-04-22 to date: 12-04-2022	

Amount in words: Ten thousand four hundred and fifty two rupees only.

Sign:	

MEASUREMENT SHEET				Annrovec	Approved by: Vijay raj	(Ta)	
	MRPLLP						
	Nilgiri Heights						
escription:	Brick work						
	Prasad choudary.ch						
Риерагей Ву:	AnilM						
Dester	13-04-2022						
	Tem Description	Length	Width	Height	No's	Quantity Units	Item Head Total
S No. Item Head	Hell Description		sour commenced				
Store room brick work at block A lower	Store room brick work brickwork complete for 6store rooms at loer at block. A lower basement	56.0	1.0	9.5	1.0	532.0 Sft	
basement		55.0	1.0	9.5	1.0	522.5 Sft	
		63.0	1.0	8.8	1.0	551.3 Sft	
		64.0	1.0	8.8	1.0	560.0 Sft	7 9
100		63.0	1.0	8.8	1.0	551.3 Sft	
		64.0	1.0	8.8	1.0	560.0 Sft	
Note:	of doors and windows measurments	1200-19 604 HWY	879.44				
2 Staircase brick work	Brick work completed for staircase I	46.0	1.0	8.0	1.0	368.0 Sft	
	Brick work completed for staircase II	47.0	1.0	8.0	1.0	376.0 Sft	

52,260.00	Total Amount:	I					
	4,888.00	13.00	sft	376.0	Brick Work completed for starrease II		
	4,784.00	13.00	sft	368.0	Brick work completed for staircase I	Staircase brick work	2
					doors and windows measurments		
					Above measurments are Including deduction of	Note:	
	7,280.00	13.00	ns	560.0			
	7,163.00	13.00	Sft	551.0			
	7,280.00	13.00	nS	560.0			
	7,163.00	13.00	Sft	551.0			
	6,786.00	13.00	sft	522.0			
	6,916.00	13.00	Sft	532.0	brickwork completd for 6store rooms at loer basement	Store room brick work at block A lower basement	_
	1						
Item Head Total	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
					13-04-2022		Date:
					Anil.M	d By:	Prepared By:
					Prasad choudary . ch	tor:	Contractor:
					Brick work	Work Description:	Work D
					Nilgiri Heights		Project:
		Approved by: Vijay raj	Approved		MRPLLP	Company Name:	Compar
			1	N. Carlot		ESTIMATE SHEET	ESTIM

